TEAAS 10.04.0000 Release Notes

The loop mileposting rules are new to this release.

Scenario A

From Road ‘F’ is a loop that intersects On Road ‘O’ twice and Toward Road ‘T’ lies between the two intersections of ‘F’ & ‘O’ (#1 & #3) and the distance between the two intersections are x miles or greater, where x is a configurable number stored in TEAAS database. 
The milepost of the crash location will be the milepost of the intersection closest to ‘T’ plus or minus the distance from the From Road. See the drawing below for more details.
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Real Example: Franklin County. US 401 at NC 39




Figure2.3. To-Be TEAAS Mileposting Scenario A
Scenario B

From Road ‘F’ is a loop and one of its segments coincides with On Road ‘O’ and the Toward Road ‘T’ intersects the coinciding roads. 

The milepost of the crash will be determined by the distance and direction from the From Road. If direction is West, the milepost will be the milepost of intersection #3 minus the distance from that intersection else it will be the milepost of intersection #1 plus the distance from that intersection.
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Real Example: Franklin County. US 401 at NC 39




Figure2.4. To-Be TEAAS Mileposting Scenario B
Scenario C

Both From Road ‘F’ and Toward Road ‘T’ are loops that intersect On Road ‘O’ multiple times. Both loops don’t overlap, such that mileposts at all intersections of ‘F’ & ‘O’ (#1, #2) are greater or less than mileposts at all intersections of ‘T’ & ‘O’ (#3, #4). 

The milepost of the crash location will be the milepost of the intersection closest to intersection of ‘F’ & ‘O’ nearest to ‘T’ plus or minus the distance from the From Road. See the drawing below for more details.
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Figure2.5. To-Be TEAAS Mileposting Scenario C
Scenario D

From Road ‘F’ is a loop but only loops on (intersects with) one instance of inventoried route ‘O’. In TEAAS, a road with multiple instances of inventoried routes is a road that has the same 8-digit route id and county number but multiple begin milepost numbers. 

The milepost of the crash location will be the milepost of the intersection of ‘F’ & ‘O’ closest to ‘T’ plus/minus the distance from ‘F’. See the drawing below for more details. The milepost calculation logic to applies the situation where ‘T’ is also a loop and loops on only one instance of ‘O’. The specific instance of ‘O’ used to calculate milepost value will be determined or locked down by a lookup of the intersection table. In other words, the specific instance of ‘O’ must intersect both route ‘F’ and route ‘O’.
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Real Example: Wake County. Main at Elm towards South





Figure2.6. To-Be TEAAS Mileposting Scenario D
